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Toilleadh | Capacity

Aimsigh soithi difritla i do theach agus amharc ar an lipéad atd orthu. Cd mhéad ml atd iontu? Scriobh na
freagraf isteach sa tdbla.

Look around your house for different containers (e.g. milk carton, juice carton, fairy liquid srl.) read the label
carefully and find out how many millilitres or litres they contain. Write your answer in the table below.

Container (name of item) How many ml / [?

A thuismitheoir{, iarr ar do phdiste amharc ar na freagrai a fuair siad agus smaoinigh faoi cé acu atd nios lu /
n{os moé na litear.

Parents, encourage your child to look at the different amounts they got and to think if the answers are more
than or less than a litre / 1000ml.

T.A.F.F: -teanga bainte le medchan
- d6igh chun compardid a dhéanamh;



Circle the image with more.

Capacity More or Less

Ciorclaigh / Dathaigh an pictiur leis an mhéid is
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Circle the image with less.

Ciorclaigh/ Dathaigh an pictiur leis an mhéid is 0.
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Meachdn/Weight
Léigh na habairti thios agus cuir isteach na focail chearta.

Read the sentences below and put the correct word in each sentence. (nios troime — “nees truma” meaning
heavier or nios éadroime - “nees ay-druma” meaning lighter.)

nios troime | | nios éadroime | | mar an gcéanna

heavier lighter equal to
[/
U\
eilifint leabhar luchog
Ta an eilifint nd an leabhar.
The elephant is than the book.

T4 an cléite nd an elllﬁnt.

E i

T4 an leabhar nda an elllﬁnt.
” o
e Gaen
T4 an luchég leis an luchég.
L5 i
Ta an cléite nd an t-ull.

[

T4 an t-ull leis an ull.




Medchan a chur i gcompardid/ Comparing Weights

Look at the fruit on the balance scales. Finish the sentences below each picture to make
the statement true using the words heavier, lighter or equal.

nios tfroime | | nios éadroime | | mar a gcéanna

heavier lighter equal to

The apple is Ta an ordiste Ta an ciobhai
Ta an all

: nda na J‘raochc’lln leis an bhanana.
than the pineapple.

nd an anann. ghorma.

T4 su talin

T4 an banana T4 an ordiste

nd an mango. nd na silin. leis an ull.

Challenge/ Dushlan

Compare how heavy different fruits / foods in your house are. Which are heavier,
lighter or of equal weight?




Fad a Chur i gCompardid/ Comparing Lengths
We are learning about length.

Léigh na habairti thios agus cuir isteach na focail chearta.
Read the sentences below and put the correct word in each sentence. (nios faide meaning
longer or nios giorra meaning shorter.)

nios faide nios giorra an fad céanna

longer shorter the same length

Aimsigh na rudaf seo / Find these items in your house and use them to answer
the questions:

Sz

peann luaidhe leabhar glid scriosdn slat tomhais
Criochnaigh na habairt thios.
i
.
i ~AIGIEIEAFiiES i .
Td an peann luaidhe nd an glid.
The pencil is than the rubber

~TFFGTTAAATEAG

T4 an leabhar nd an peann luaidhe.
ind tind
T& an gllu leis an leabhar.
o
?
T& an scriosan nd an 9l'ul.

P

T& an slat tomhais nda an scriosdn.




Dibailti agus Gardhibailti /| Doubles and Near Doubles

Gardhubailti1

5 + 5 = 10
6 + 6 = 12
7 + 7 = 1%
8 + 8 = 16
@ + 9@ = 18
M0 + 10 = 20

Bain Usdid as na dubailti leis na suimeanna seo o

dhéanamh.

54+5=

5+ 4 =

5+ 6=

6+ 6=

6+ 5=

6+ 7=




Dibailti agus Gardhibailti /| Doubles and Near Doubles

Gardhubailti 2

5 + 5 = 10
6 + 6 = 12
7 + 7 = 14
8 + 8 = 16
Q + Q = 18
M0 + 10 = 20

Bain Usdid as na dubailti leis na suimeanna seo

dhéanamh.

7+ 7=

7+ 6=

7+ 8=

8+ 8=

8+ 7 =

8+ 9=




Darts Game!

Draw out the board below and place on the ground. Throw
stones or small toys at the board and see where they land

Red — Double it
Blue — Double it twice!

Black — 25 points

Buail an Sprioc
(dibail agus dibail dibailte)
Cluiche do bheirt. Faigh tri chnaipe an duine agus cuir orthu l€im ar dit ar
an chldr (ar nds Tiddly Winks), cuntais na scéir agus breac é sios. Is € an
buaiteoir an té a fhaigheann 20 né nios md ar dtds.

_ Dibail Dibailte

Imreoir 1 Imreoir 2

Cuir do chnaipe sa chearndg.




Airgead: Briseadh 6 20p / Money: Change from 20p

Use coins to complete this activity practically at home if needed.

Cheannaigh mé: Thug mé: Briseadh/Change
I bought: I gave

20p
@ 20p
@ 20p

UL
20p

4

o 20p
20p




Airgead: Briseadh 6 50p
Count on to find the answers on a 50 square.

Cheannaigh mé: Thug mé: Briseadh:Change
I bought: I gave:
50p
50p
50p

o 50p

50p




Pets Bar Graph

Spme children were asked obout their fovourite pet. Complete the bar graph wsing the information
below and then answer the questions about the graph.

Pect

Tn[lH

Dog

Cat

Ll

Bird

Fish

Hamster
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Questions

1. Which animal is the most popular? Circle the picture of the animal which
occurred the most.

TR

2. Which animal is the least popular? Circle the picture of the animal which

occurred the least.

3. How many children took part in the survey?

4. How many children liked birds and cats?

5. How many children liked cats more than birds?

6. How many children liked dogs more than hamsters?




